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2

3.

1, tn Gutenberg developed thefirst-known 1 E TŽAAf Ggg AIA IteT H (HEUTTY)

prnting press in Germany. Which was the

first book he published in that press ?

(1)

(2) The Bible

(3)

(4)

(4)

(1)

(2)

(3)

(3)

What do we call the process through which
bacterial and fungal enzymes degrade
detritus into simpler inorganic substances ?

The Republic

(1)

PART - ||T-|
GENERAL AWARENESS /IITHI

(2) Humification

The Odyssey

The Magna Carta

(4) Leaching

Catabolism

Students' and Teachers' Holistic

Advancement through Quality Education
(SARTHAQ) is an

Fragmentation

Indicative and suggestive NEP

implementation plan for Higher

Education

Indicative and suggestive NEP

implementation plan for School

Education

Indicative and suggestive NEP

implementation plan for Technical

Education

Indicative and suggestive NEP

implèmentation
.

plan for Legal

Education

PZEEO-2023 D 2
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(1) fvfes
(2)

(3)

(4)
H1ef

qIAT

(3)

1)
(2) t

344

(1)

(4) fTCTT %
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5

6

According to the National Education
Policy

2020, by which year the Gross Enrolment
Ratio in higher Education including
vOcational education is to be increased to50% ?

(1) 2040

(2) 2035

(3) 2050

(4) 2030

Which team won the 2023 Women T20 World

Cup ?

(1) Australia

(2) England

(3) South Africa,

(4) India

Milpa', 'Roca', 'Ladang are different names 6,
of which of the following ?

(1) Open-cast mining

(2) Earthquake waves

(3) Rain water haryesting

(4) Shifting cultiyation

PGT-GEO-2023
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(1) 2040

2) 2035

(3)

(4)

JOIN TELEGRAM -@TEACHINGEXAM

q 2023 Af faei qi á-20 faya

2050 X

2030

(2) 3

(4)

(3) <fru 3Â5T

(1) Taqd G1

(3)

(2) y4 Tat

(4) Pafta afa

R2
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7.

8.

Who was awarded the Sahitya Akademi
Bhasha Samman 2022 ?

(1) Chungkhan Yashawanta Singh

(2) Shashi Nath

(3) Uday Nath Jha

(4) Krishna Bhattacharya

Assertion (A) :

Both India and the USA have bicameral
legislature.

Reason (R) :

The upper house of the legislature in both the

countries has an equal nunber of seats
reserved for different states.

Choose the correct answer from the codes
below :

(1) Both (A) and (R) are correct

(2) Neither (A) nor (R) is correct

(3) (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

PGT-GEO-2023 b
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(1) grH 4GA fiE

T?

(2) uf

(3)

(4)

tfT (A) :

GaRUT (R) :

(1) (A) r (R) -i H

(2) (A) (R) HN

(4) (A) TA f(R) Hâ TI

R2
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9.

10.

Assertion (A) :

As part of the major reforms to Union
Budget, the date of budget was advanced to

1 February for the first time from the Budget
for Financial year 2020.

Reason (R) :

The advancement of Budget date has been
done to enable early completion of the Budget

cycle.

Choose the correct answer from the codes
below :

(1)

(2)

(3)

(4)

Both (A) and (R) are correct and (R)

explains (A)

Neither (A) nor (R) is correct

(B)

(A) is correct but (R) is wIong
(A) is wIong but (R) is correct

Which of the following statement(s) is/are
correct about 'India State of the Forest
Report (ISFR) ?

(A) The first State of the Forest Report was

published in 1947.

The report is based on the biennial
assessmnent of India's forests carried out

by Forest Survey of India (FSI).

(C) Based on the ISFR 2021 report the total

forest cover of the country is 21.71% of

the total geographical area of the
country.

(D) The ISFR 2021 report shows a decrease

of forest cover as compared to the
previous assessment.

Choose the correct answer using the codes

below :

(1) Only (C) and (D) are correct

(2) Only (B) and (©) are correct

(3) Only (A)(B) d (C) are correct

(4) Only (B), (C) and (D) are correct

PGT-GEO-2023
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5
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3frca (A) :

chlUT (R):

J)

(2
(3)

(4)

B)

(D)

(1)

AC) 3IŠ. UH.U5.3R. qÍ 2021 yé

(2)

„(3)

(A) 3rt (R) H sÌn (R) À (A) 1

-(4).

(A) HT fh (R) Tid
(A) IGTA fhg (R) HTI

341Š.yH.5,34R. 2021 à vfrec À fMBA

dT (C) 3n (D) Hâ ŽI

i (B) sTT (C) HI
M (A), (B) *N (C) HI
T (B), (C) t (D) H TI

R2
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11,

12.

Three statements are given followed by two
conclusions I and II. Assuming the
statements to be true decide which of the
conclusions is/are definitely true.

Statements :

1.

2.

3.

I

(2)

II.

Conclusions :

(1)

(2)

M>Q

P M

(1) R

Ns M

(3) J

Q = N

(4) P

Q<P

(3) Only conclusion I is true.

PART - /- ||

REASONING ABILITY / Go HHT

(4) Only conclusion II is true.

Both conclusions I and II are true.

Neither conclusion I nor II is true.

Who sits fourth to the right of 'K ?

PGT-GEO-2023
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ch:

6

1.

2.

3

I.

II.

(1)

2)

Eight friernds J, K, L, M, P, Q, R and S are (12) 313 fa J, K, L, M, P, Q, R ÂT S U# qIfER
sitting around a square table in such a way

that all are facing towards the centre of the
table. 'L' sits in the middle of the side. P' is

second to the left of 'M. 'Q is exact right of

Kand is sitting in the middle of the side. 'P
doesn't sit with 'L'. 'M sits exact right of 'J'.
Two friends are sitting in between 'M and
'S. 'R is second to the left ofI. 'S is exact

left of L'. K is third to the left of 'L'.

(3)

t4)

(2) S

(1) R

(3) J

(4)

M>Q

P

P> M

N< M

Q= N

Q<P

R2
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13. Given below is a question, followed by two
statements I and I, each containing some

information. Decide which of the statements

is/are sufficient to answer the question.
How is Kushal related to Meenakshi ?

Statements :

I.

II.

(1)

(2)

(3)

Kushal is only son of Meenakshi's
brother-in-law.

Garvita is Kushal's only sister.

Both statements Iand II together are

necessary to answer the question.

Both the statements I and II together are

not sufficient to answer the question.

The statement I alone is sufficient to

answer the question while the

statement II alone is not sufficient.

(4) The statement II alone is sufficient to

answer the question while the

statement I alone is not sufficient.

answer the question :

(Left) S BT MRESICZYOWAPDFH
GUL(Right)

(4)

Which letter is fifth to the right of the twelfth

letter from your right end of the given

Sequence ?

14. Refer to the following letter sequence and 14/ ffifaa 31HGHH h H4b
yya

(1) P

(2) W

(3) R

PGT-GEO-2023 D 7

II
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(1

(2)

(4)

(aI) SBTMRESICZYQWAPDFHG
UL (I)

I) P

(2) W

(3) R

(4) X

R2
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15.

16.

Given below is a question, followed by two
statements Iand II, each containing some
information. Decide which of the statements
is/are sufficient to answer the question.

Who is to the immediate right of "]' among
five friends J, K, L, M and N, facing the
North ?

I.

II

(1)

(2)

(3)

(4)

'L' is third to the left of K and J is
second to the right of 'L'.

'K is to the immediate left of'N' who is
second to the right of "].

Both statements Iand II together are
necessary to answer the question.

(1

Either statement I alone or statement II
alone is sufficient to answer the
question.

(2)

The statement Ialone is sufficient to
answer the question while the
statement II alone is not sufficient.

'M+ means 'M is the wife of Q;

'M-O means 'M is the father of ';

The statement II alone is sufficient to

answer the question while the
statement I alone is not sufficient.

'MxQ meansM is the daughter of 'Q:

'M+Q means 'M is the son of 'Q'.

If A+ BxJ+U-D, how is B related to 'D' ?

Sister

Aunt

(3) Mother

(4) Brother

PGT-GEO-2023 B
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8

ia fi
, K, L, M iTT N, I 3TR Át GR E

I

(1)

2)

?

(3)

(4)

qf A+BxJ+U-D 'B 'D' I

(2

(3)

(4)

R2
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Tvo
statements labelledas Assertion(A) and 17. HUA

Reason (R) are given. Consider both ihe
statements carefully.

Assertion (A) : Fake news spread-in world

Reason (R) :

Gelect correct answer with the help of code.

(1) (A) is false but (R) is true.

(2) (A) is true but (R) is false.

() Both (A) and (R) are true and (R) is the
correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not

the correct explanation of (A).

has becomea,serious
problem.

Statements :

The internet is.source of all
fake news.

the statements to be true, even if they seem

to be at variance with commonly known

facts, decide which of the conclusions

logically follow(s) from the statements.

1.

2

3.

I.

All pinks are scarlets.

Conclusions :

Some scarlets are blues.

No blue is brown.

Some browns are blues.

1B. Three statements are given, followed.by three 18. àt yT fUT f IG A ft I, I
conclusions numbered I, II and II. Assuming

No pink is brown.

II. Some scarlets are pinks.

(4) Only conclusion I follows.

2) Only conclusion II follows.

") Only conclusions I and II follow.

PGT-GEO-2023

(4)
Only conclusions II and ILfollow.

Tc (R) :

9

(1)

V2)

(3)

1.

2.

3

I.

xII.

(4) (A) 3TT (R) i H fog (R), (A)

I.
(1)

(A) IA

(3

fh

JOIN TELEGRANM -@TEACHINGEXAM

(A) HT fo

(A) 3TT (R)

(R) H TI

(R) ITG I

H R (R), (A) t

R2

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


19.

20.

Which of the following Venn diagram | 19/
represents the best relationship between

Teachers, Sisters, Females ?

(1)

(2)

(3)

(4)

different sections indicate the number of
persons.

Salaried 24

(1) 12

Study the given diagram carefully and 20. f T 3HTtG HI Eyd 3A 3Kanswer the question. The numbers in

(2) 13

(3) 5

(4) 8

8

PGT-GE0-2023 B#
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How many 'Under 35 years' people are
'Salaried' but not 'Married ?

12

22

Under 35 Years

Married

JOIN TELEGRAM -@TEACHINGEXAM

(1)

10

(2)

(3)

(4)

(1) 12

(2) 13

Kam

(3) 5)

8

17

12

22

35 a 4

R2
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A
statement is given followed by four 2y.conclusions numbered 1, II, III and IV.

Assuming the statement to be true, decide
which of the conclusions is/are definitely

true.

Statement:C = R> D<E = K>p

Conclusions :

I. C>D

K<D

P<E

IV. E>R
(1) Only conclusions II and IV are true.

(2) Only conclusion IV is true.

(3) Only conclusions I and IIare true.

(4) Only conclusions I and IIlare true.

N and P. They are Lecturer, Artist,
Businessman, Executive, NGO worker and

Singer but not necessarily in the same order.

There are two married couples. "N, a

Lecturer, is married to the Artist who is the

mother of L' and'P. 'P is pursuing singing.

"D has one son and one grandson who is an

Executive. 'K, the Businessman, is married

to "D', Of the two marríed ladies, one is a

NGO worker.

Which of the following statements is true ?

(1) M is the Artist.

(2) 'L is son of D' and K.
(3) K is the wife of 'D'.

(4) 'Mis the Executive.

PGT-GEO-2023

hT:C = R>D<E= K>P

11

II.

12. There is a family of six members D, K, L, M, 22/ 3E HG D, K, L, M, 3r P AIGI G yfkK

JAI. P<E

(1)

IV. E > R

(2)

(3)

C>D

(2)

K<D

(3)

JOIN TELEGRAM -@TEACHINGEXAM

L, D'

K, 'D'

1 'K # ya
Y

(4) 'M IH

Xam

R2
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23. Lakshmistarts from point 'A' and travels 23. T'A farg YE G ž sR GfeM

2 km Southwards to a point 'Z' and then turns
right and travels twice that distance to reach
Y. She then turns left and travels five times
the distance she covered between point "A'

and (Z' and reaches point 'X. From there
she turns left and travels 4 km to reach
destination B'. What is the shortest distance
between the points A' and 'B' and what is
B's direction with respect to 'A' ?

(1)

(2) 8 km, South

(3)

(4

8 km, North

12 km, North

12 km, South

T the immediate neighbour of R' and 'P'.
Neither 'X' nor Y are the immediate
neighbours of 'L'. Pis sitting second to the
left of "L'.

Who is sitting at the second position from the
right end?

(1) K

(2) P

(3) R

(4) T

24. Seven children K, L, P, R, T,X and Y are 24. HIA AIT#K, L, P,R, I,X 3R Y VF HT

sitting on a straight bench facing towards
North. X is sitting immediately left of "Y.

PGT-GE0-2023
DO
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(1) 8 f.., 3Y

12

(2) 8 f .,-Î., fa

(3) 12 fh.4., 3dR

12 f.ît., zfav

(2) P

(3) R

(4) T
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Three statemernts are given, followed byfour (25)
conclusions numbered I, II, III and IV.
Assuming the statements to be true, even if

they seem to be at variance with commonly
Lnown facts, decide which of the conclusions
logically follow(s) fromthe statements ?

Statements :

1.

2

3.

All boats are fishes.

IL.

Some fishes are rivers.

Some rivers are sailors.

Conclusions :

Some sailors are fishes.

Some boats are sailors.

Some rivers are boats.

IV. Some fishes are boats.

(1) Only conclusion IV follows.

(2) Only conclusions I, II and IV follow.

(3) Only conclusions I and II follow.

(4) Only conclusions II and III follow.

West become ?

(1) North-West

(2) South-East

(3) East

(4) North-East

1

13

2.

3

A.

II.

0. If Northbecomes South-West, then what will 26. c 3re, u-YfNgH' à yg'

II.

(1)

(2) T fra I, II 3N IV fcà

(3)

(1) J-yfgH

(2) fU-ye

(3)

xam

(4) JR-yd

PGT-GEO-2023
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27.

28.

Reason (R) are given. Consider both the
statements carefully.
Assertion (A) : India has the potential to

Reason (R) :

Two statements labelled as Assertion (A) and 27/ f T fT arfurs (A)

(1)

(2)

Select correct answer with the help of code.

(3)

(4)

(iü)

(iv)

(v)

(vi)

(1)

A patient has been given amedicine schedule.
There are eight medicine capsules. S, T,U, V,
W, X, Y and Z. Which have to be taken each
day based on the following conditions

(2)

make its Handicrafts
industry a very flourishing

(3)

sector.

(4)

India is a home to a very
large number of craft forms
including textiles.

(A) is false but (R) is true.

(iii) Fourth capsule must be U,

(A) is true but (R) is false.
Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

Capsule 'S must be taken sometimes
before "T and "W,
"T must be taken immediately before
V,

Which of the following statements is false ?

Y must be taken immediately before
X,

'Z mustbe taken immediately after'W",
Y is the first capsule to be taken.

The sixth capsule must be V.
T is taken immediately after 'S.

PGT-GE0-2023 B

'X is taken before 'S.
'U' must be taken between 'S and 'T'.

14
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Ta (R) :

(1)

(2)

(3)

()

(A) HEt

(A) 3r (R)

(4) (A) 3R (R) A HE fhg (R), (A) t

(R) TTA I
i H

28 yGh HG V+ GIaIfaI TSI gH 318 Ta
4T - S, T, U, V, W, X, Y sÌr ZžI

(v)

3R (R), (A)

41)

(iv) Y 'X rcl Yat fI IY

(3) X àt 'SEà feI Ta

4)

R2
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29.
Sudha is the wife of Anand, Kavita is the 29.)
mother of Gaurav. Anu isthe daughter of
Ravi, who is the brother of Aryan. Anu's

mother Kavita is the daughter-in-law of
Anand. How is Sudha related to Aryan ?

(1) Paternal grandmother

(2) Maternal grandmother

(3) Sister

(4) Mother

BVU, ZXQ, XZM, VBI, TDE,

(1) FAR

(2) FRA

222629

Join

(3) RAF

(4) RFA

30. Select the letter cluster that will replace the 30. fffa jeeI À WAfa(2) PH K A
question mark (?) in the following series

PGT-GEO-2023

22262951

(1)

15

(2)

(3)

4) HIAT

K

VSexam

BVU, ZXQ, XZM, VBI, TDE,

JOIN TELEGRAM - @TEACHINGEXAM

(1) FAR

(2) FRA

(3) RAF

JA) RFA

2REA

R2
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31. McAfee Plus is an example of :

(3)

(2) Programming Language

Open source software

Anti-virus

(4) Application software

(1

preferred most to design an animated
multimedia presentation on the topic'Benefits
of Renewable Energies' ?

(4)

Microsoft Excel

2) Microsoft PowerPoint

(3) Microsoft Edge

PART- I||/ 4T I||
KNOWLEDGE OF ICT /ICTI IG

32. Which of the following software you 32, ffhH 3; fqyat 4fa' fag W

Microsoft Word

owned by Microsoft?

(1) Floppy Drive

LB) Google Drive

(3) iCloud

(4) One Drive

PGT-GEO-2023 A

(31)

JOIN TELEGRAM -@TEACHINGEXAM

rGH (McAfee Plus) faGI TEIRY

(1) 3147 ed (Open source

oftware)

16

(2) Ìurfn ràs (Programming Language)

33. Which of the following cloud storage service 33. H5Arae Farfta ari I3E eR afH

(3) t ar4H (Anti-virus)

(4) qreft* T7 HÍzà (Application
software)

(1k HIES YHG (Microsoft Excel)

(2) 1ÌHYZ YrGRATEZ (Microsoft
PowerPoint)

(3) HH UA (Microsoft Edge)

(4) HIGHÍR TŠ (Microsoft Word)

(1) FloppyDrive

(2)Google Drive

(3) icloud

(A) Dne Drive

R2
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34.
Out offthe followingoptions,the most popular 34. 3fyai

A VH fAs (MS windows) ith I4

35.

combination of shortcut keys to Copy Someselected text in most of the MS windowsapplications is :

(1) Ctrl + P

(2) Ctrl + X

(3) Ctrl +C

(4) Ctrl +0

The power backup device, UPS, stands for

(1) Uninterruptible Power Supply

(2) Uninterruptible Power System

(3) Under-control Power System

(4) Under-controlled Power Supply

36. Which of the following is not a source of the

virus entering your system ?

(1) Pern drive

(2) Printouts

(3) Email attachment

(4) Hard Disk

(1) Misusing personal information over

internet

(2) Using fake email messages to get

personal information

(3) Stealing monitor from a store

(4) Distributing child pornography over

internet

PGT-GEO-2023
DD 17

fr=fefud faact Haifs tafyq
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(1)

(2)

3)

Ctrl + P

(3)

Ctrl + X

(4) Ctrl +O

(4)

37. Which of the following does not come under 37. f-fafaa
H 3AT yR-2000 3Íd

cyber-crime under IT Act 2000?

Ctrl + C

(1) Uninterruptible Power Supply

Uninterruptible Power System

Under-control Power System

Under-controlled Power Supply

(1) 7 IT (Pen drive)

2) fizSZH (Printouts)

(3) - sÈTHe (Email attachmernt)

(4) s fst (Hard Disk)

(4) z

(pornography) faafta

R2
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38. Which ofthe following groups of devices are 38/ ffafg à 344670 G1

39.

40.

only input devices ?

(1) Keyboard, Printer, Light Pen

(2) Joystick, Microphone, Scanner

(3) Mouse, Monitor, Joystick

(4) Mouse, Microphone, Speaker

(1) PAN

(2) LAN

(3) MAN

(4) WAN

Which of the following is an example of an
Operating System ?

(1) Word

Which type of network we create when we 39. 3H eY(Bluetooth) H44 Aconnect two smartphones to transfer some
photos through Bluetooth ?

(2) Windows

(3) Bing

(4) Edge

@fg

PGT-GEO-2023 18
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AYe fza54 (346(|) ?

40.

(1) -as, fu, AIZ tA (Keyboard,

Printer, Light Pen)

2) affr, H155Ìt4, tT (Joystick

Microphone, Scanner)

(3)

(4)

34, HÍ-Á, afufe (Mouse, Monitor,
Joystick)

4134, HTSTF4, itEI (Mouse,
Microphone, Speaker)

A1) PAN)

(3)

(2) (LAN)

(4) Sa (WAN)

fftfa
(Operating System) V# JAETU?

(1) š (Word)

2) fsG (Windows)

(3) fa (Bing)

(4) Edge)

I 3TÍYfT fRRE

R2
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41.
Effective teaching, by andlarge, is afunction 41.of:

(1) teacher''s positive attitude towards

(2) teacher's ability to make students learn.
(3) teacher's honesty.

(4)

teaching.

PART - IV |4M- VTEACHING APTITUDE

'Assessment of Learning ?

(3)

(1) Scholarship Examination

(4)

teacher's scholarship.

(2) Anecdotal Records

Which of the following is not an example of 42., ifg à a4 'fH 3T6T I

(3)

Annual Examination

Assessment of Homework

(1) file a complaint with the principal and
parents and seek their indulgence.

(2) find out causes for lack of interest and

take corrective measures.

(3)

ask them as to why are they not taking

interest in their studies.

(4) tell them that taking interest in their

studies would lead to good result.

H. Which one of the following is not associated

with a unit test ?

(") Totally controlled by the teacher

(2) Used for Remedial purpose

Standardized Achievement Tests

4. If students are not taking interest in their 43. f faeefi yt vgg tfa 1i à fTAG
studies, the teacher should :

(4) Confined to limited number of

competencies

PGT-GEO-2023

2)
(3)

19

(2)

(3)

(4)

1:

2)

fauffi 3rfua yà qqal

fTerE fa

2)

af sfyca

JOIN TELEGRAM - @TEACHINGEXAM

anftr vâ

exa
JEH14 I 341GheT4

(1) fI# ZI yuft: frad

(3) d iyrfta êtaU

R2

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


45.

46.

47.

Which one of the following is not a 45.
characteristic of teacher centred approach ?

() Enough scope for discussion and debate
is available.

(2

(3

(4)

(1)

(2)

Courses prescribed can be completed in

Mohan can now think in terms of
propositions and deal with propositions
instead of objects. He deals with sum total of
possibilities rather than empirical situation.
He takes final steps towards versatility in
thought.

(3)

time.

Mohan is at which stage of Piage's model ?

Large sized classes are handled very
well.

Unfamiliar or abstract concepts are
directly explained by the teacher.

(2)

Concrete operations stage

Formal operations stage

Pre-operational stage

(4) Sensory-motor stage

The ASSURE model of integration of lICT in
the learning process has the components :

(1) Analyse the content, state the aim,
select method and materials and
evaluate.

Analyse the learners, state the aim,
select the method and materials and
extend.

(3) Analyse learners, state the objectives,

select the media and materials and
evaluate.

(4) Activity, state the objectives, support

and extend.

PGT-GE0-2023
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47.

faiya i ?
(1) at sr arc-faarK Yaf

(2) 44d Htsh4HG 34GI
(3) y-GhATHGE HAEYT

(4) sf4-G 4F 3q1

H4q ASSURE yfaH Haa:
(1) faqqALg A faATU, TA frufru, faft
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48

Which characteristic does not belong toAdolescernce stage ?

(1) A period of inteniseemotions

(2) Highly critical of social evils andinjustice

(A) Pronounced group loyalty

(4) Forming groups among members of
same sex

What should not be a role of a teacher in the 49.
construction of knowledge by students ?

(1) Focussing on realistic approaches to
solve real world problems

(2) Discouraging self analysis and self

assessnment

(3) Being sensitive to the previous
experience of each and every student
in the class

(4) Supporting cooperative
collaborative learning in the classroom

and

(1) It provides training to prepare students

for life.

(2) It develops self confidence and self

reliance.

(3) This method is suitable for the students

of lower classes.

(4) It develops scientific and critical

attitude among students.

PGT-GEO-2023

50. What is not an advantage of Discovery 50. dG af
H TY T I?

method ?

(1) ta Haii 1 HH4

21

(3) re HE ufrGAI

(4)

(3)

(4)

JOIN TELEGRAM - @TEACHINGEXAM

(3) fafy sit T faenftat f
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51.

53.

54.

Physical Map ?

(1) Population Map

Which one oftheefollowing is categorized into 51. ffrfar fatt tfres Hfa i%

(2)

(3)

(4)

(3)

Economic Map

world map can be prepared ?

(4)

Political Map

Soil Map

(1) Zenithal Equal Area Projection

(1)

(2) Cylindrical Equal Area Projection

(3)

52. On which of the following projection, the 52. ffrfgd gai f4 fava fa

Bonne's Projection

GEOGRAPHY /teRIA

Gnomonic Projection

(2)

(2) 1.11 kg/square centimeter

1.09 kg/square centimeter

PART - V/11-V

1.00 kg/square centimeter

(4) 1.03 kg/square centimeter

(1) Bar Diagram Method

The spatial distribution of population is best

represented by which one of the following ?

Dot Method

Which one of the following is an average air 53 HH HTE H 3THA ArYGE Hffgd 4 À Hpressure at Sea level ?

PGT-GEO-2023

(3) Percentage Bar Diagram Method

(4) Isopleth Method

(1)

JOIN TELEGRAM -@TEACHINGEXAM

(2)

22

(2)

(3) fres Hrafa

(3) ar ày

(1

(3)

(4)

22

eNHfA

(1)

fE Hf

N2)

(2) 1.11 f5.1. sfa ai.

(3)

(4)

m

1.09 f6.JL. gfd ai iÂ.

1.00 f6.1. ufã

1.03 f5.1. yfa af

RG fafu

fäg fafu

sfgd E G fafu

44H fafu

Á.

Á.

R2
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55.
The Indian Standard"Time is referred to 55.hich one of the following longitudes ?

()

(2)

(4)

(3) 72° 30 E

72° 30 W

82° 30' W

(2)

82° 30' E

northernmost ?

(3)

(1) Khadar

Bhangar

Tarai

56. South of Himalaya, which of the following is 56. feer zfyu ffaf i H 3AH

(4) Bhabar

57. Which of the following rivers is known as

"Sorrow of Bihar"?

(1) Tista

(2) Kosi

(3) Gandak

(4) Son

DD

(1) 72° 30' vfrH

23

(2)

(3)

PGT-GEO
JOIN TELÉGRAM -@TEACHINGEXAM

4) 82° 30 yd

(1)

82° 30 qfra

(2)

72° 30' Td

s4)

(3) E

57 fferfya fei fAH"fagR A

Ìs"

(1) faEaT

am

(3) TisE

(4) 7

R2
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58.

59.

60.

(1)

(2)

(4)

(3) Guyot

(1)

(2)

(3)

"Geography studies the differences of
phenomena usually related in different parts
of the earth's surface", This definition of
Geography was given by

(4)

Atoll

(1)

(2)

Abyssal Plain

(3

Mid-Oceanic Ridge

is a flat topped seamount.

Alfred Hettner

Ellen C. Semple

Richard Hartshorne

The southern boundary of India extends upto

Vidal-de-la Blache

6° 45 N

5° 45' N

8° 4' N

(4) 7°4' N

in the Bay of Bengal.

PGT-GEO-2023

@fo
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58.

59.

(1)

(2)

j3)

(4)

1)

(2)

(3)

(4) faSIT-s- NI

J1) 6° 45' 3R

(2)

(3)

5° 45' 3R

8° 4' 3R

(4) 7° 4' 3HR

R2
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"Blossom shower" is very much beneficialfor 61/the cultivation of

(1)

(2)

(3)

(4)

Flowers

Mango

Coffee

A The forest area covers

(3)

Tea

total area of the country according to state
records.

(1) 24.25

(2) 25.28

22.25

(4) 23.28

63. During El-Nino, the temperature of water on

the Peruvian Coast increases by

(1) 10°C

(2) 15°C

(1)

(3) 2°C

(4) 5°C

affected by flood ?

Assam

oin

(2) Punjab

% of the 62.

(3) Uttar Pradesh

(4) Madhya Pradesh

PGT-GEO-2023
b

(1) i

25

(2)

(4)

(1)

(2) 25.28

(3) 22.25

(1)

(4) 23.28

2)

b. Which of the following states is the most 64. 1eitad (st aGÀ
Haff ya

3114

(3)

24.25

1)

/Sexat

10° Afg

(4) 5° Afrrqa

15° AfrHqH

JOIN TELEGRAM -@TEACHINGEXAM

(2) oG
(3) 3R YCI

(4) 2 YC
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65.

66.

67.

extremely drought affected area of India ?

Which one of the following regions is65. ffefea -H yI YRA 3TRfya

(1) Interior Odisha

(2)

(3) Karnataka Plateau

Malwa Plateau

(4) Kachch Region of Gujarat

as ´eye of the storm'.

(3)

core of tropical cyclone is known

(1) Nimbus cloud

(4)

(2) Cloudless

Cirrus cloud

Cumulonimbus

categorised in

@f

(1) High Vunerability Zone

(2) Very High Vulnerability Zone

(3) Low Vulnerability Zone

(4) Moderate Vulnerability Zone

PGT-GEO-2023 A

26

1) afts sfen

With respect to landslide, high rainfall and 67. YG HC , yfq He 3 qi g
steep slope areas of Western Ghats are

JOIN TELEGRAM - @TEACHINGEXAM

(2)

(3) esYaR

66. 3u #fey hqId

(1) qufE

(3)

am

(4) 4 qÍ x
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The area on

(1)
Planimeter

(2)

(3)

(4)

(2)

(3)

(4)

a map is measured by 68.

Animometer

Rotameter

Radiation (EMR) is between

(1) About 400 to 700 nm

Clinometer

B
The visible spectrum of Electromagnetic 69/ faga gat fafsu (EMR) #1 4 aH

(3)

About 400 to 750 nm

About 400 to 580 nm

About 480 to 700 nm

(1) Steep Slope

10. When contours are closely spaced in higher 70.

altitudinal zone and progressively widely

spaced in the lower altitudinal zone, the

resultant is

(2) Gentle Slope

(4)

Concave Slope

(4) Convex Slope

2262951

22251

bin

(4) Fallow other than current fallow

(2) Permanent pastures

JOIN
1

(3) Culturable waste land

Current fallow

262951

1) rtz
(2) tfrfter

27

(3)

(4) IS-fZI

A1)

(2)

(3)

(4)

(2)

1, The land left uncultivated for more than a | 71. qt 3fcs feh- ggá à
HHU à fr

year but less than five years is termed as

(3)

(1) T

T 400 700 iz
GIYT 400 750

z

(2)

TTT400 À 580

GEO-20 RAM -OTEACHINGEXAM

TI 480 700

(4) 3de T

Ea
(3) pfa rq aq yf

am
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72.

73.

74.

75.

The articles needed by Eskimos in Northern 72. 3û HSI À yta t 3AT4N46G1I

Canada are provided by

(1)

(2)

(3)

(4)

only

(1)

(2)

The total utilisable water resource in India is 73.

(3)

(4)

Road route

Water route

(3)

Air route

(4)

Rail route

1052 cubic km

(3)

1152 cubic km

1022 cubic km

(1) Petroleum

1122 cubic km

(2) Milk

Natural Gas

Water

(1) Japan

From Gulf of Mexico to North-Eastern states, 74. HA Á GIIAS{-yi ih'Big Inch is used to transport

(2) France

Australia

(4) Nigeria

PGT-GEO-2023b

(1) HÇ#

JOIN TELEGRAM -@TEACHINGEXAM

(2)

28

(4)

1) 1052 7 f..
(2) 1152 7 f5,À.

(3)

Broad base and narrow peak of age-sex 75. Tqd AAR Va Htv fNITT AII 3g-fePyramid is of

(4) 1122 q ft.

(2)

2226295

(4)

1022 y f.f1.

(3) pfr% tA

fuf4s

(1)

(2) h
(3) fern

22262951
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Which one of the following
is an out port?76.(1) Manchester

(2) Duisburg

(3) Piraeus

(4) Kolkata

(1) Japan

(2) Peru

(3) USA

11. Which one of the following countries is in tho lmn reat à aa H Gifst4 Hhaexpanding stage of Demographic Transition ?

(4) Canada

78. World's richest monozite deposits occur in

district of Kerala.

(1) Ernakulam

(2) Malappuram

(3) Kannur

(4) Palakkad

is located in

(1) Allahabad

(2) Jaipur

(3) New Delhi

oin

(4) Gorakhpur

PGT-GEO-2023

(1) H7

(2) yHat

43) fE374

29

(4) A1GI

(1) GYH

{2)

(3) yHU

79. The headquarter of North Central Railway 79. 4 Hg tTe AI HIY

(4) ISI

78. faya HÀ THT GIEZ fTY

#

1) g4

(3)

JOIN TELEGRAM - @TEACHINGEXAM

(2) HyH

Sexa

(4) hE

(1)

(2)

(3)

Ty x

$ fcet

4) Rgy

R2
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82.

80.

81.

Plarning Commission was replaced by NITI

Aayog on

(1)

(2)

(3)

(2)

(4)

Vembanad Kayal.

(1) Kochi

1January 2016

(1) 75

1 April 2016

(2) 80

1 January 2015

(3) 65

1April 2015

(3) Marmagao

(4) 70

(4) New Mangalore

PGT-GEO-2023

port is situated at the head of

Kandla

About
India is of bituminous type.

@fop

% of the coal deposits in

JOIN TELEGRAM -@TEACHINGEXAM
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80.

81.

(1)

(2)

(3)

(2)

(4) 1 349T 2015

11at 2016

) afg

(1) 75

13A 2016

(3) HT4f

(2) 80

a 2015

(4) TR

(3) 65

(4) 70

am
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Aharacteristics.,took a cycletube, pumpedair
intoit and asked the studentsto pressthe
ighthy filledtube. Which one ofthe following

is
most appropriately explained by this

teacher,

experiment ?

(2

A Cycle tube is expandable.

(3)

while explaining
air 83.

Tube may burstwhen excess air is filled,

Air is visible.

(4) Air is compressible.

a It is known that the Ganga River is much 84.

poluted at Kanpur due to leather industries.
A team arrived in July to verify but could not

find high pollution. Which is the most

appropriate answer from the following
?

(3)

(1) Due to government initiative, pollution

is controlled.

(2) Due to error in the observation of the

team members.

Due to high water discharge, pollution

is diluted/removed.

(4) Due to control of directly discharging

polluted water in the river.

in New Education Policy 2020 is

(1) 4+3+4+4 years

0. The structure of school learning time included ! 85. TGiy H HGt H4 igH yrr

(2) 3+4+4+4 years

(3) 3+5 +3 +4 years

(4) 5+3+3+4 years

PGT-GEO-2023

(3) y G4I

31

ifa 2020 À

(1) 4+3 +4+4 q

(2) 3+4+4+4 ad

(3) 3+5+3+4 q

A4) 5+3+3+4 q

xam
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86.

87.

88.

According to New Education Policy 2020, the
gross enrolment ratio in higher andVocational education is expected to reach50 percent by

(1)

(2)

(3)

(1)

(4) 2030

(2)

A research team observed that landslide in
the Himalayas is progressively rising over
time.Which one of the following could be the
best reason for the same ?

(2)

(3)

2035

(1)

(4)

2040

2025

(3) Rainfall is on rise.

(4) Mountain slope is stable.

Human activities are on increase.

Lateral erosion of river is high.

Due to high level of pollution in the air

Due to low level of oxygen in the air

Due to very low temperature

Due to glacier in nearby areas

PGT-GE0-2023
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86 $ fNIAT 2020

Ateam of geography students visitedLadakh. 88. ia ai 5I UG5 M MErg IThey were trying to run on a flat horizontal
road, but they were getting tired and not able
to run very fast. Which one of the following
is the most appropriate reason for the same ?

32

1)

(2)

(3)

(3)

(4) 2030

(1)

2)

(4)

2035

2040

2025 x

ftfar

ATTA
50
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A
teacher askedthe students to recapitulate89.

the
growth of plants they used to observe in

yearly cycle. Which one pf thefollowing iscorrect about maximum growth of plants ?

a In monsoon months, due to high
temperature and high rainfall

(2) In autumn months) due to moderate

temperature and moderate
precipitation

(3) In winter months, due to low
temperature and high relative humidity

(4) In summer months, due to high
temperature and high photosynthesis

90. Which of the following existing programme 90/ $ fI ifa 2020 fufeted A HI

willbe discontinued in New Education Policy

2020 ?

(1) Ph.D.

(2) Post-Doctoral

(3) Diploma

(4) M.Phil.

possible?

tongue is most preferably be adopted

according to New Education Policy 2020, if

(1) Grade 4

(2) Grade 5

(3) Grade 2

22262

(4)

in

Grade 3

91. Upto which grade, the teaching in mother 91 HYq E, T fRIGT fa 2020 3H fa

22262951

(1)

33

(2) e-sÍRA
(3) fsiT

A4)

(1)

A2)

ys.

(3)

(4)

JSTGEA20 RAM -@TEACHINGEXAM

H.faet.

hI 5

X

hT 2

H 3
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92. All students will take school examinaions in I 92. fTI tä 2020 qHRgrades

95.

appropriate authority according to NewEducation Policy 2020.

(1) 2, 5 and 8

(2) 2, 5 and 7

(3) 3, 5 and 8

(4) 3, 5 and 7

93. Who among the following is NOT associated 93/with plate Tectonics ?

(1) Parker

(2) Morgan

(3) Mckenzie

(4) Ortelius

(1) Philippine Plate

(2)

(3)

Cocos Plate

Arabian Plate

(4) African Plate

(1) Sill

(3

(2) Cone

conducted by the

Batholith

94. Which one of the following is NOT a minor 94, fffaplate ?

(4) Lacolith

PGT-GEO-2023

l)

34

(2)
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(3)

(4)

(2)

2, 5 3 8

2, 5 3t 7

(1) Rht

3, 5 3N 8

(2)

3,5 sr 7

(3)

(3) t

4) efra

Which one of the following is an extrusive 95.diHa BI frftafffe
landform formed by volcanism ?

A

AfaA àe
4) 4á ee

(1) fa
2) ig

te

(3) eif
(4) Tfg

62951

222621

am

2262951
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a6. During which one of the following epochs, 96. ffaftg zui àfH gt At<Hra hlHomo Sapiens appeared on the earth ?

98.

(1) Oligocene

(2) Pleistocene

(3) Palaeocene

(4) Eocene

97. Under which one of the following state of

matter, the rocks of asthenosphere is lying?

(1) Semi-solid rocks

(2) Layerised solid rocks

(3) Solid rocks

(4) Liquified rocks

Which one of the following is the fastest mass

movement ?

(1)

(2)

(3)

Rock-slide

Rock-fall

Rock-slump

(4) Debris-slide

98

35

34147 31T ?

PGT-GEO-2023 B
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(1) fa

(2) 374d T1

(3) YIGA

97. grAHUgA (asthenosphere) * gT?

(4) HfeTT1

(2)

(3) raqgi

(4)

Kam

(3) HT

(4) HTAI E1 fGHI

R2
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99. Which one of the following is a branch of
Physical Geography ?

(1) Tourism Geography

(2) Population Geography

(3) Agriculture Geography

(4) Soil Geography

100. Which one of the following is an active factor
of soil formation resulting into its fertility ?

(1) Climate

(2)

(3)

(4) Topography

(2)

Time

(1) Arete

Parent material

(3) Cirque

(4) Spur

Col

(2)

negligible?

(3)

101. Which one of the following is just like an arm 101. fffaH 4 T VG 3IH t
chair ?

(1) 140 km

(4)

160 km

100 km

120 km

PGT-GEO-2023 D

(1)

JOIN TELEGRAM-@TEACHINGEXAM

(2)

36

102. At which one of the following heights, the 102. ffefaa hg BAÀAavailability of oxygen in the air becomes almost

(3) fu ia

100. HGI

(1)

(2) hIaty x

(4) Tpfd

(1) tat
(2)

(4)

Ayia

(1)

(2)

(3)

4)

140 f6.-ft.

160 f.t.
100 f.f.
120 f.4f.
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03.
Which one of the following regions receives 103.
maximum insolation on the earth ?

(1) Subtropical Desert Region

(2)

(3) Equitorial Region

(4) Subtropical Ocean Region

Temperate Region

(1) Sand bars

(2

(3)

(4)

104. Which one of the following is a low linear 104. at t teî
m À, 346 fi q f

and parallel ridges along a large rivers in the

plain ?

(1)

105. Ozone layer is found abundantly within

which one of the following heights from earth

(2)

Meander

surface ?

(3)

Natural levees

(4)

Point bars

15 km to 60 km

22 km to 67 km

7 km to 37 km

10 km to 50 km

37

(2)

jorAEP2p2M -@TEACHINGEXAM

(3) yAÍY AN

(4)

(1)l

(2)

xam

3) frs eay

(4) fae àfat

(1)

(3)

15 f.Î. à 60f,t.

(2) 22 fs.ît. 67 f5,.

7 fe.f. À 37 f..

10 fe#.ft. 50 f.Ì.
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106. Which one of the following conditions is 106. aI4TT át faciHa f
suitable for inversion of temperature ?

(1) Clear sky and calm air

(2) Long winter night, clear sky and calm
air

(3) Long winter night and clear sky

(4) Long winter night and calm air

107. Which one of the following average slopes is! 107. fH e fT Htad 3HA Arai
applicable for the Continental Shelf ?

(1) Three degrees to five degrees

(2) Five degrees to seven degrees

(3) One degree or less

(4) One degree to three degrees

Koeppen's, potential evapotranspiration
exceeds precipitation ?

(1) Warm Temperate Climate

108. In which of the following climate groups by 108. 194 BRI VH fffg TA faH

(2) Cold Climate

(3) Tropical Climate

(4) Dry Climate

PGT-GE0-2023

(1)

38
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(1

(2) ia fst à H fsut

(3) fst aH

(1) a eAIY

(2)

(3) guurahfeaefry
erAY
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T09. Which one of the following is a lowislarnd 109. GRI YA AT 30U|

found in the tropical oceans with brackish
water ?

(1)

(2)

(3)

(4)

(1)

(2)

Atoll

(3)

Oceanic Ridge

Guyot

(1)

(2)

110. Which of the following types of rainfall is 110. yqsy Ai ÀfHffg A h4 À YR 1
common in equatorial regions ?

Seamount

(3)

i22262$51

(4) Cyclonic

(4)

Convectional

Both orographic and cyclonic

(1)

Orographic

(3)

Near 66° 30' North or South latitude

Near Poles

111. Coriolis Force is absent at which one of the 111/ yt fffa i À H aIfafTH

following zones of the earth ?

Near equator

tide ?

Near 23° 30' North or South latitude

Neap Tide

(2) Spring Tide)
Diurnal Tide)

(4) Quarterly Tide

(1)

PGT-GEO-2023

(2)
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(3)

39

(4) HH rei

)
(2)

(3)

112. Which one of the following is NOT a type of 112/ 1-tta AHHI R-I HI YH{ TÂŽ2

(4) h qlg

(1)

f4

(2)

3)

(4)

(1)

(2)

66° 30' 3t Y cteru 34T4414

(3)

23° 30' 3 T tay 31H41H
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113. Who among the following created the 113/ffetf fh4 'R
'Human Development Index ?

(1)

(2)

(3)

(4)

(2)

(3)

largest population ?

(4)

(1) Brazil

(1)

Manmohan Singh

(2)

Brundtland

114. Which of the following countries has the | 114/ffafaa i fnH

(3)

V.LS. Prakasharao

(4)

Mahbub-ul Haq

Nigeria

Indonesia

(4)

United States of America

Industrialization

Biotechnology

115. Which one of the following is the latest 115. H1a faarH farH Àfftfg
development in human history ?

Sanitation

Information and Computers

matter into soil ?

(1) Omnivores

(2) Decomposers

(3) Herbivores

Carnivores

(1) 444eT fe

PGT-GEO-2023

(2)
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(3)

40

(1)

(2)

116. Which one of the following turns the organic 116. f-ffaa H yei at fMi 4 TH

(3) AfNAT- 4

(1)

sO)

T. UH. yG1IITA

(3)

(4)

(2) iftrt
stefr

(3)

(1) atert
P2951

(4) HGEr

R2

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


Which one of the following approaches of 117, fr-ftfsdLaman development isassociated with
Amartya Sen ?

(0) Welfare Approach

(2) Income Approach

(3) Capability Approach

(4) Basic Needs Approach

Cultivation ?

(1) Milpa

(2) Ladang

(3) Slash and Burn

(4) Kolkhoz

18. Which one of the following is NOT a Shifting 118,tfafsa à T-ÍKÊ Ffy T ?

Railway line ?

(1) Chita

(2) Vladivostok

(3) Moscow

(4) Novosibirsk

)

PGT-GEO-2023

(2)

41

(3)

hu3414

19. Which one of the following is the eastern 119. YR-Hafty ted IgT ydf s atà H
terminal railway station on Trans-Siberian

314 3414T4

(4) 341RYA 3414YHdI 341T4

(1) f

(2) GIGT

(1) fI

42) fsa

(3) HhI

xam

(4) afufar

JOIN TELEGRAM- @TEACHINGEXAM
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120. Which one of the following comes under 120 frfafe
H I ÍN

tertiary activities ?

(1) Financial Banking

(2)

(3)

Policy Formulators

Decision Makers

(4) Consultants

industry ?

(1) Paper Industry

121. Which one of the following is an agro-based 121. fHfafga à

(2) Timber Industry

(3) Synthetic Fibre

(4) Cotton Textile

(1) Dairy Farming

(2) Mixed Farming

(3) Viticulture

(4) Vegetables

122. Which one of the following is known as truck 122/f-ffar fbHà z fy a
farming ?

by which one of the following ?

(1) Megalopolis

(2) Conurbation

(3) Technopolis

(4) Metropolis

(2) ifa frfras

123. High-tech industries regionally concentrated, 123. J tafrt sejy sefNE H*fKA E

self-sustained and highly specialised is known

PGT-GEO-2023

(3) frvfehaÍ
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(4) qUHYtara

42

(1)

(2) HRt Gst 3rm

(2) fufaa sfy

1) Aiferg
(2)

(3)

àYA

ferg

(4) Agetf

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


124.
Suez Canal joins which of the following two 124. tawater bodies ?

(1) Red Sea and Arabian Sea

(2) Red Sea and Indian Ocean

(3) Mediterranean and Red Sea

(4) Mediterranean and Atlantic Ocean

speakers in India ?

(1) Sino-Tibetan

125. Which language family has the largest 125. YKa yaà AIart at eh M Iak

(2) Indo-European

(3) Austric

(4) Dravidian

(1) Godavari River

(2) Narmada River

(3) Krishna River

(4) Kaveri River

(1) Chandigarh

(2) Nagpur

(3)

126. Which one of the following river basin is 126. Lffaa fci à 34 frfa 3HR HG

northern most in terms of their location ?

atgâ ?

Varanasi

(1) IA HR 3r 3G H

(4) Katri

(2) HR 3Ì fo arr

43

(1)

(2)

(3) rfg

127. Which one of the following towns belongs to 127. Tfifed VET A TH GI YIH aí tynfr

administrative category ?

14) fas

(1) iera

(3)

JOKIELEGRAM - @TEACHINGEXAM

?

(2)

exa

(3)

(4) ef
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128. Which one ofthe following scales on a given 128. a faeî 41Ha GI I a

map remains the same when it is enlarged or
reduced?

(1) Graphical Scale

(2)

(3) Statement Scale

(4) Representative Fraction Scale

(1)

Old Scale

(2)

(3)

(4)

129. Which one of the following National (129. as át fe ftitad 4 TeH à

Waterways is the second longest in length ?

National Waterways 3

National Waterways 4

National Waterways 1

National Waterways 2

130. Which one of the following is NOT an
objective of Namami Gange ?

(1) Development of river front

(2) Cleaning of the river surface

(3) Construction of embankments

(4) Monitoring of industrial effluents

PGT-GEO-2023 44

(1) tfgG HIYf
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(2) yrf rrt

(3)

(4) fY fy 4xám

(1) T4 THÍ 3

(2) THTÍ 4

(3) 4
THrÍ 1

(4) t4geHr 2

(1) fri faarH

(3) Teai fufu
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131. Fillintheblank in the folowing sentence with 136. Choose the option in which the followingthe help of given options.

We

The trainwas about to leave the station when

(1

(2
(3)

(1)

had reached
(4) would reach

(2)

(3

132. Choose the option in which the followingsentence hasbeen changed into passive voice.

A4)

reached

His attitude vexes me sometimes.

(1)

have reached

(2)

(3)

Directions for question ntumber 133 to 135:
Fill in the blank in each of the following sentences with
the help of given optioms.

Iamvexed at his attitude.

133. Nitin as well as his friend Ramesh
coming to the party.

Iam sometimes vexed at his attitude.
Iam vexed by his attitude.

23442951

Iam vexed by his attitude sometimes.

were

(4) are

there.

have been

(1) was
(2) were

(2)

(3) is

(3)

134. Today, the need of common man
just bread and butter.

(4) are

) the

PART -VI
GENERAL ENGLISH

135. Mrs. Kanwal is

school.

no article

a
(4) an

B651

PGT-GEO-2023

2262951
Principal of this

words/phrases have been rearranged to form
a correct sentence.
(A) people gave
(B)

45

(C)

JOIN TELEGRAM -@TEACHINGEXAM

(E)

(D) him

(1)
(2

(3)

(4)

(2)

140.

3)

Directions for question number 137 and 138 :
Fill in the blanks in the following sentences with the
help of options that follow ench of them.

(4)

137. Can you tell me how the accident
(1) came up x

(2)

him support

(3)

President

having elected

138. The witness will

(2

(C), (B), (A), (D), (E)

(3)

(E), (D), (B), (A), (C)
(A), (C), (B),(E), (D)»
(B), (D), (C), (E), (A)x

(1) bear out

(1)

(2)

came by x

(3)

came down

14) bear up

139. The troops were ordered to mobilise
.

came about

bear with

Choose the word which is nearly opposite in
meaning to the underlined word.

bear on

(4) dismiss y

Convene

line up x

retreat

He delivered the speech with great aplomb
Which of the following words can correctly
replace the underlined word in the above
sentence ?

what I have said.

apprehension
disquiet x

diffidence x

4) confidence

R2
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MyT HT141 à 143 fr fMET:

(1)

(2)

(3)

A4)

(1)

3)
(4) fRN IŽI

(2)

(3) T

(4)Ig

(1)

(2)

q f

(4) fg f
PGT-GE0-2023

PART - VI

GENERAL HINDI
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146. fy-ferfan

1)
2)
(3)

H

(4)

(1) -gis
K2) -e
(3) aR-Gfd

(4) zé-faE

(1) HIE

qeTR

(2) Hf

(4) |9if#

(1) ar
(2) 4o4T

(2)

(4) aI
149/ frfefad fai if aIGI NE:

(1) N

(3)

4) fsci

2226294U

(3)

J2) faf

am

(4) aJ

-o0o
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